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Unit 8 Review | 2-D Geometry NAME:

PART 1: Key Terms, Types of Angles, Measuring Angles and Adjacent Anglﬁj
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3) The vertex is:
1) 2S0X is adjacent to £ .iQ L 2) 4AEB is adjacent to A_B_EL_ E
ov X KO3 A BED

3) Use the protractor to find the measure of each
angle. Indicate whether the angle is acute,
obtuse, right, or straight.

a) m& NEO = 130" . obtuse.
b) maGEN=__ 90" ; QCute_
¢) m& AEN = 4o* . (lot €~
d) msREN=_ 0" . .

&) im4 GEO = | SO

PART 2: Vertical, Supplementary and Complementary Angles

Name the relationship. classify the angles. and find the measure of anole x.

1)

2) 3)

%0
- 42 .
x ~ 45° < y
A | -~
70°
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ANGLE RELATIONSHIP: (circle one type) | ANGLE RELATIONSHIP: (circle one type) | ANGLE RELATIONSHIP: (circle one type)

Vcnicalomplementary Supplcmenmry Complementary | Vertical ,Supplementary

CLASSIFY EACH ANGLE by its measure: CLASSIFY EACH ANGLE by its measure: CLASSIFY EACH ANGLE by its measure:

Mand (le) Ola*usg and (Mand )
m%%) (19 obtuse— 29) gecte €
| x= mAx = ngﬁ mu'= 20
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PART 3: Interior and Exterior Angles of a Triangle

=

Find the value of X in each of the following diagrams.
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h (5x=10)° (Ox =120
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2) Equation: S‘C*s""oz%

XALOS

PART 4: Parallel Lines and Transversals |Corresponding Angles, Alternate Interior 4ngle.\'. Alternate Exterior Angles)

3) Equation: \<+35 = (“"5 X: “O

o

4) Equation: 3ty | "'(oz-

DIRECTIONS:

Find the measure of each missing angle marked with “x”." Identify the relationship bf the given angles. Use

|

(

__(C) Corresponding. (I) Alternate Interior, (E) Alternate Exterior, (V) Vertical, or (S) Supplementary angles.

X 1) o l(;s' 2) .

x=__ 19" x= 5

4.
| Relationshipi—‘:'-("> Relanonshlp_cg \
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Relationship: 5 (l&O)

Relationship: ; (;)
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PART S: DIRECTIONS for problems 7 — 10. ; bel ‘
’ A) Identify the relationship of the given angles using the letters indicated by each type below.
Use: (€) Corresponding, (1) Alternate Interior, (E) Alternate Exterior, (V) Vertical, or (S) Supplementary angles. ,
B) Write an equation to solve for x. ;
' C) State the value of x. ‘
7 8) 13
35° -
(X+ 13° Sl x—27)°//
A) Relationship: A 4. fn‘ef(:r("\'—f) A) Relationship: A’ [+ Ext (-:_:)
B) Equation X+ )8 = 135 B) Equation Lh{ -Fh— | 33
2 22 ixq = (6O
Ox=_120 ox=_40 TL—H‘;;)
9 v 10) / & |
S e R |
19 20 -O'OOOO 1
( s 2) N (3x + 6Q) [ ‘ :
" — 7 2 7 '?0 Or, - i
2 Ve o |
» L N
A) Relationship: SU{)P {QM\J‘C\A ’80} A) Relationship: ve(‘-‘ CQ( (: )
B) Equaliongﬁii‘ tle-2 = IO B) Equation 9% +) = Zx+70 |
B g
2 xS E B —47—‘
C) X q C) x= —~
=24 e LY =10
11) t||sand lines m and n are transversals of tands. ' gO
Ifm 41 = 64°and m 48 = 116°, find the measure of each - lo
of the angles listed below. m . XPaan
16 (4hb. G 7.4
3 S / 6
= - l l 1 1 7.2 t
mZ 3 ( mZ 5§ [P N (,c‘ ellb
mz10=_{( (s me7 = 6 i
- 6"'19 qoh 1sl;’ 1464 NG
(. msZ9 = ('g‘_-jL_' mz16=_]( “¢1 \126’7’15 16(((,
[
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. 2 correct answer for each question.
PART 6: The following questions are MULTIPLE CHOICE. Circle the letter of the ;

rrect
2) Which of the followingis a co ]
nz)ame for the angle indicated below with

1) ifthetwo [aysare M%ﬂhat is
the value of 77? °s {c‘ftnfm the question mark?
(\Sld' /
‘ \EA—/
M
| A
<3 |
? 2=
H I
A. 45° B. 90° A. sHXT B. AMHT
C. 25° D. 20° C.4H D.ATHA
4) In the diagram below, lines 4 and j are parallel.
3) gy B Line & and line m intersect lines # and j.
In the disgram below, PO and RS are parallel.
k
Q&\*
h {
KY Z“ Sk‘?" g
50° 60° J
Based on the angle measures in the diagram, what
is the value of x?
B - angle measures - i
A DB 60 " 50 p 5 g in the' diagrirm, what
A. 50° : P h L °
5) lnthediagmmbelow.linukandmimenect 0 g2 50 120 D. 130
panillel lines p and g.
6)  The measures of the angles of a triangle are 50°,

What is the value of x?

C.

A 45° 60° 120° D. 135°
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35° and 95°. What is the measure
exterior angle of the triangle?

of the largest

A. 85° B. C. 145°

130°

D. 150°
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A diagram is shown below. 8)
Line [ is parallel to line m. Two trnnsvcrsals
intersect lines / and m, as shown in the diagram
below.

s
r o/ ot
20
X 7»“ 5&;94/
c T AR
-~
s ¢ U\.u«\ |
X ®
Sum o angles
i ?
Which angle must be congruent to EAGHY Based on the angle measures in the diagram, what
is x?
A. LDGE B. ZEGA
A, 40° B. 50° C. 60° D. 70°
C. ZAGF D. £ZCGD
%) In which figue is the measwre of Z1 equal to | 10) 1y which figure is the measure of Z1 not equal to

45°2

60°?

0
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